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14 
 

𝐴𝑔𝑁𝑂3(𝑎𝑞) + 𝑁𝑎𝐶𝑙(𝑎𝑞)  → 𝐴𝑔𝐶𝑙(𝑠)  ↓  +𝑁𝑎𝑁𝑂3(𝑎𝑞)



 

15 
 

𝟐𝑺𝑶𝟐(𝒈) + 𝑶𝟐(𝒈) ⇌ 𝟐𝑺𝑶𝟑(𝒈) 

𝑪𝑯𝟑𝑪𝑶𝑶𝑯(𝑰) + 𝑪𝟐𝑯𝟓𝑶𝑯(𝑰) ⇌ 𝑪𝑯𝟑𝑪𝑶𝑶𝑪𝟐𝑯𝟓(𝑰) + 𝑯𝟐𝑶(𝑰)

𝑭𝒆𝑪𝒍𝟑(𝒂𝒒) + 𝟑𝑲𝑺𝑪𝑵(𝒂𝒒) ⇌ 𝑭𝒆(𝑺𝑪𝑵)𝟑(𝒂𝒒) + 𝟑𝑲𝑪𝒍(𝒂𝒒)



 

16 
 

𝐂𝐎𝟐(𝐠) + 𝐇𝟐𝐎(𝐈) ⇌ 𝐇𝟐𝐂𝐎𝟑(𝐚𝐪)

𝑯𝟐(𝒈) + 𝑰𝟐(𝒈) ⇌ 𝟐𝑯𝑰(𝒈)

𝑵𝟐(𝒈) + 𝑶𝟐(𝒈) ⇌ 𝟐𝑵𝑶𝟐(𝒈)

𝑵𝟐𝑶𝟒(𝒈) ⇌ 𝟐𝑵𝑶(𝒈) + 𝑶𝟐(𝒈)

𝑵𝟐(𝒈) + 𝟑𝑯𝟐 𝟐𝑵𝑯𝟑(𝒈)
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𝟐𝑵𝑶𝑩𝒓(𝒈) ⇌ 𝟐𝑵𝑶(𝒈) + 𝑩𝒓𝟐(𝒈)

𝑪𝑶𝟐(𝒈) +𝑯𝟐𝑶(𝑰) ⇌ 𝑯𝟐𝑪𝑶𝟑(𝒂𝒒)

𝟐𝑵𝑶𝟐(𝒈) ⇌ 𝑵𝟐𝑶𝟒(𝒈)

𝐏𝑪𝒍𝟓(𝒈) + 𝒉𝒆𝒂𝒕 ⇌ 𝑷𝑪𝒍𝟑(𝒈) + 𝑪𝒍𝟐
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𝐻𝐶𝑙(𝑔)  
𝐻2𝑂
→   𝐻3𝑂(𝑎𝑞)

+ + 𝐶𝑙(𝑎𝑞)
−

𝑁𝑎𝑂𝐻(𝑠)  
𝐻2𝑂
→   𝑁𝑎(𝑎𝑞)

+ + 𝑂𝐻(𝑎𝑞)
−
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𝑁𝑎𝑂𝐻(𝑠)  
𝐻2𝑂
→   𝑁𝑎(𝑎𝑞)

+ + 𝑂𝐻(𝑎𝑞)
−
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→



 

21 
 

→

→



 

22 
 

𝐻𝐶𝑙(𝑔) + 𝐻2𝑂(𝐼)  →  𝐻3𝑂(𝑎𝑞)
+ + 𝐶𝑙(𝑎𝑞)

−

𝑁𝑎𝑂𝐻(𝑠)  
𝐻2𝑂
→  𝑁𝑎(𝑎𝑞)

+ + 𝑂𝐻(𝑎𝑞)
−

𝐻𝐶𝑙(𝑔) + 𝐻2𝑂(𝐼)  →  𝐻3𝑂(𝑎𝑞)
+ + 𝐶𝐻3𝐶𝑂𝑂(𝑎𝑞)

−

𝐶𝐻3𝐶𝑂𝑂𝐻(𝑎𝑞) + 𝐻2𝑂(𝐼) ⇌ 𝐻3𝑂(𝑎𝑞)
+ + 𝐶𝐻3𝐶𝑂𝑂(𝑎𝑞)

−
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𝑁𝑎𝑂𝐻(𝑠)  
𝐻2𝑂
→   𝑁𝑎(𝑎𝑞)

+ + 𝑂𝐻(𝑎𝑞)
−

𝑁𝐻3(𝑔) + 𝐻2𝑂(𝐼) ⇌ 𝑁𝐻4(𝑎𝑞)
+ + 𝑂𝐻(𝑎𝑞)

−
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

𝐻3𝑃𝑂4 ⇌ 𝐻
+ + 𝐻2𝑃𝑂4

−

𝐻𝑃𝑂4
2− ⇌ 𝐻+ + 𝑃𝑂4

3−

𝐻2𝑃𝑂4
− ⇌ 𝐻+ + 𝐻𝑃𝑂4

2−

𝐻𝑂𝑂𝐶𝐶𝑂𝑂𝐻 ⇌ 𝐻+ + 𝐻𝑂𝑂𝐶𝑂𝑂−

𝐻𝑂𝑂𝐶𝐶𝑂𝑂𝐻 ⇌ 𝐻+ + 𝐻𝑂𝑂𝐶𝑂𝑂2−

𝐶𝐻3𝐶𝑂𝑂𝐻(𝑎𝑞) + 𝐻2𝑂(𝐼) ⇌ 𝐻3𝑂(𝑎𝑞)
+ + 𝐶𝐻3𝐶𝑂𝑂(𝑎𝑞)

−


